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Maths Answers

Lesson 1

1. @) 2,4,6,8,10
h) 12,14,16,18,20

2. 12 socks

3. 14 socks should he circled

Example:

@

4.a) 6,8,10,12,14
h) 14,10,6, 8

Gold Task
a) 2

b) 24
c) 24
d) 46
e) 28

4
22
26
44
30

b
20
28
42
32

10
16
32
38
36

Complete the number square below:
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12
14
34
38
38

f 46 44
g) 1214
h) 2018
052 54

7472

Deepen the moment

Red Task
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The colowred in squares should be:
2,4,6,8,10,12,14,16,18,20,22,24

a) 2x2=4
h) 2x3=6
©) 2x7=14

1. Sam is incorrect. He has worked out 2 tens more

not 2 ones more. Two more than twenty-four is
twenty-six.
2. 4 tens is two more. 39 cannot be part of the
sequence.

3.
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40
18
14
58
68

38
20
12
60
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64
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Lesson 2 Red Task
5,10,115,20 5,10,15,20
L 255p0t9 @ 5x4 =20
. h) 5x7 =35
2. 35 petals coloured in. 0 5%3=15

Example:

ihirky

3. a) 15,20,25,30,35
b) 35,30,25,20,15
c) 35,40,45, 50

. Aiza is incorrect. She has 6 packets with 5
biscuits in each, which makes 30 altogether.
3. He needs 2 more dominoes hecause he

cwrrently has 35. To get from 35 to 45, he will
say 2 numbers (40 and 45).

Gold Task

11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40

41 42 43 Lt 45 46 47 48 49 50

2. Linis correct. There were 5 hoxes of 5 cakes which is 25. Kim could not
he correct as 24 doesn't end with a zero or five. Jas isn't correct as 20
cakes would only, fill 4 boxes.

Lesson 3

1. 18
2. a) 48,49
h) 29,30,31
3. 34
4. a) 39
h) 29
c) 25
5. Tom because he has 27 whereas Kimi has 30.
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Lesson 4

1. Possible answer: I do not agree with Annie hecause
she has counted 30 twice. There should be 36

muffins.

2.  Evowill not say 39 or 19 bhecause they are not
between 38 and 24. She will say 29 (children could

show this on a humbhber track).

3.  Tommy is wrong - he has written 3 which should he
30 or 3 tens. Rosie is correct — she has just recorded,
the ones first. Jack is correct - 10 + 10 = 20 (two

tens is the same as twenty,).

4,  Sometimes. One more than 19 is 20 - the tens and
ones digit has changed.. One more than 24 is 25 -

Miss Sykes is not correct because she has added

5. Captain Cutlass got all 3 right. Part-whole model
1: no mistake. Part-whole model 2: the tens and,
ones are the wrong way around. Part-whole
model 3: the ones have heen miscounted.
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Numerals Number in Words Tens | Ones Illustration

23 twenty-three 2 3

16 sixteen

38 thirty-eight

46 forty-six

3 thirty-one

4ty fourty-four

twenty-two

twelve

7 seven 0 7

Deepen the moment

1. A is the odd one out hecause it shows one more and
one more again than 30. B and C show one more

and one more again than 29.
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Lesson 5

90,100,

September

13 heads

14 - fouwrteen, 5-five. 4-four, 6-six
18

30

87

12:30 or half past 12
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English Answers — Lesson 1

Example answers:

Paths and roads.
Balance.

Balance and stahility.
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English Lesson 2: To use the past and present tense

2 of the following; BMX hikes, light-weight racing hikes, motorhikes and foldaway ones.

Past tense (tick the correct
hox)

Present tense (tick the correct
hox)

Mrs Armitage wulked to
the Valley Gardens with

her dorg.

Past

Mrs Armitage is riding her
path.

Present

Mrs Armitage is listening
carefully to any, troffic

Present

Mrs Armitage jumped in
her dog.

Past

Can you write two sentences that are written in the present tense?

1.Child’s own answer

2. Child’'s own answer

Can you write bwo sentences that are written in the past tense?

1. Child's own answer

2. Child’'s own answer
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Reading for Productivity Answers

Reading for Productivity, lesson 1

1. Where Jews meet to worship and pray to God.

2. For studying.

3. A closet which has the Torah scrolls inside.

4. The Eternal Lamp.

5. People might be less distracted by others if there is wall giving them privacy.

Reading for Productivity, lesson 2
1. 1983
2. Please find lines drawn correctly below:

2. Complete each sentence by, drowing a line to- match:

Sharing, ...Mmeans we save our
document. onto the computer:
Editing, ...means we share a docuwment
with others.
Saving ...means we try, to improve owr
waork.

3. To make the writing really stand out.

4. Posters, letters, information texts, greeting cards, invitations etc.

5. When making some of the ahove documents — children to give specific
examples.

Reading for Productivity lesson 3

Antonio Carlos Johim and, Jotio Gilberto
It is more complex.
Samha and cool jazz.

. The Girl From Ipanema

Bossa novu is usually performed on classical guitar and piano.
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https://kids.kiddle.co/Antonio_Carlos_Jobim
https://kids.kiddle.co/Jo%C3%A3o_Gilberto
https://kids.kiddle.co/Classical_guitar
https://kids.kiddle.co/Piano

1. Strong.
2. Please find lines correctly drown helow:

2. Match each hox to show what each. material may, he used for:
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Metal

Windows,

_—

Cutlery

Fahric ]

Clothes.

3. Fabric is soft, stretchy and comfortable to- wear.

4. Glass is made by melting sand and other minerals together at very high

temperatures.
5. Metal.

Reading for Productivity lesson 5
Axle.

Cars and vans.
A wusher on either side.
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An old hox. e.g. shoehox.
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A chassis is the frume upon which the rest of the vehicle is built.



